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7XMXDQ� SHQHOLWLDQ� LQL� DGDODK�XQWXN�PHQJHWDKXL�3HQJDUXK�3HUWXPEXKDQ�3HQGXGXN� WHUKDGDS�

.HEXWXKDQ� $LU� %HUVLK� GL� 3XODX� 3DQJJDQJ�� .HOXUDKDQ� 3XODX� 3DQJJDQJ�� .HFDPDWDQ� .HSXODXDQ�
6HULEX�8WDUD��.DEXSDWHQ�.HSXODXDQ�6HULEX��3URYLQVL�'.,�-DNDUWD��:DNWX�SHQHOLWLDQ�GLODNXNDQ�SDGD�
EXODQ�2NWREHU�'HVHPEHU�������'HQJDQ�PHWRGH� NXDQWLWDWLI��SRSXODVL� SHQHOLWLDQ�DGDODK�VHPXD� LEX�
UXPDK� WDQJJD� \DQJ� WHODK� �� WDKXQ� DWDX� OHELK� EHUGRPLVLOL� GL� 3XODX� 3DQJJDQJ�� \DQJ� WHVHEDU� SDGD�
ZLOD\DK���ZLOD\DK�5:�\DLWX�����UHVSRQGHQ��6DPSHO�SHQHOLWLDQ�GLDPELO�VHFDUD�SURSRVLDRDO�VHEDQ\DN�
��� �� GDUL� SRSXODVL� LQL� \DLWX� VHEDQ\DN� ��� UHVSRQGHQ�� 7HNQLN� SHQJDPELODQ� GDWD� PHQJJXQDNDQ�
NXHVLRQHU�

+DVLO� 3HQHOLWLDQ� PHQXQMXNNDQ� EDKZD� NHEXWXKDQ� XQWXN� PDQGL� SHQGXGXN� 3XODX� 3DQJJDQJ�
PHQJJXQDNDQ�DLU�VXPXU�GHQJDQ�YROXPH�DLU�����OLWHU�RUDQJ�KDUL��NHEXWXKDQ�XQWXN�PHQFXFL�SDNDLDQ�
PHQJJXQDNDQ�DLU�VXPXU�GHQJDQ�YROXPH�DLU����� OLWHU�RUDQJ�KDUL��PHQFXFL�DODW�GDSXU�PHQJJXQDNDQ�
DLU� VXPXU� GHQJDQ� MXPODK� DLU ���� OLWHU�RUDQJ�KDUL�� XQWXN� PHPDVDN� PHQJJXQDNDQ� DLU� GDUL� UHYHUVH�
RVPRVLV�GHQJDQ�YROXPH�DLU�����OLWHU�RUDQJ�KDUL��XQWXN�PLQXP�SHQGXGXN�PHQJJXQDNDQ�DLU�NHPDVDQ�
GHQJDQ�YROXPH�����OLWHU�RUDQJ�KDUL��GDQ�XQWXN�EHUZXGKX�SHQGXGXN�PHQJJXQDNDQ�DLU�VXPXU�GHQJDQ�
YROXPH� ��� OLWHU�RUDQJ�KDUL�� 5DWD�UDWD� NHEXWXKDQ� DLU� SHQGXGXN� DGDODK� ������ OLWHU�RUDQJ�KDUL�� +DVLO�
SUR\HNVL� SHUWXPEXKDQ� MXPDK� SHQGXGXN� GDUL� WDKXQ� ���������� PHQXQMXNDQ� EDKZD� SHUWXPEXKDQ�
MXPODK� SHQGXGXN�PHPLOLNL� SHQJDUXK� WHUKDGDS� NHEXWXKDQ�DLU� EHUVLK� GDODP� VHJL� NXDQWLWDV�GHQJDQ�
DVXPVL� ELOD� SHUWXPEXKDQ� MXPODK� SHQGXGXN� \DQJ� VHPDNLQ� PHQLQJNDW� GDSDW� PHQ\HEDENDQ�
SHPDNDLDQ�DLU�EHUVLK�MXJD�PHQLQJNDW�
.H\VZRUG��.HEXWXKDQ�$LU�%HUVLK��3HUWXPEXKDQ�3HQGXGXN��3XODX�3DQJJDQJ
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6XPEHU�$LU�\DQJ�GLJXQDNDQ�XQWXN�
NHEXWXKDQ�GRPHVWLN



9ROXPH�DLU�\DQJ�GLJXQDNDQ�SHQGXGXN�
SDGD�NHEXWXKDQ�DLU�GRPHVWLN

3UR\HNVL�3HUWXPEXKDQ�SHQGXGXN�GHQJDQ�
NHEXWXKDQ�DLU�5HYHUVH�2VPRVLV
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.HOXUDKDQ�3XODX�3DQJJDQJ�-DQXDUL�����



'XD�3XOXK�'XD�6HJL
0DVDODK� .HSHQGXGXNDQ

3HUDWXUDQ�
0HQWHUL� 3HNHUMDDQ� 8PXP� 7HQWDQJ�
3HQ\HOHQJJDUDDQ�3HQJHPEDQJDQ�6LVWHP�
3HQ\HGLDDQ� $LU� 0LQXP

0HWRGH� GDQ� 7HNQLN�
0HQ\XVXQ�7HVLV��

$QDOLVLV�
.HEXWXKDQ� $LU� %HUVLK� GL� '.,� -DNDUWD�
�3HUSVHNWLI�.HWDKDQDQ�'DHUDK�

'RPHVWLF�:DWHU�8VH� LQ�
7KH� 8QLWHG� 6WDWHV�� ����� � ���� LQ� ��
1DWLRQDO� :DWHU� 6XPPDU\� ����� �
+\GURORJLF�(YHQWV�DQG�:DWHU�6XSSO\�DQG�
8VH


